Chpt. 3 Review In Class Problems
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At(0,—1), 4" = 0, so an equation of the tangent lineisy + 1 = 0(x — 0), ory = —1.
4. (a) h(x) = flz)g(z) = h'(z) = f(z)g'(z) + g(z)f'(x) =
K (2) = £(2)4'(2) +9(2)F(2) = (3)(4) + (5)(—2) = 12— 10 = 2
(b) F(z) = flg(z)) = F'(z)=f(g(z))d'(z) = F'(2)=f"(9(2))d'(2)=Ff(5)4)=11-4=44
8. f(z) =2’g(z) = [(z)=2"¢"(z)+ g(z)(2z) = z[zg(z) + 29(=)]
80. f(z) =g(e?) = f'(z)=g'(2%)(22) = 224 (")
81. f(z) =[g(2)]® = F(z)=2[9(=)]' ¢ () = 29(x)g ()

52. f(z) =glg(=)) = f'(=)=4'(g9())g ()
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W (z) = [£ (=) + 9(=)] [f(=)g' (=) + 9(=) f' ()] — f(=)g(=) [f' (=) + ¢'(x)]
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_ (@)’ o' (=) + f(z)g() f'(z) + f(z)g(z)g (x) + [g(=)]* f'(=) = F(=)g(@)f (z) — f()g(z)g’ ()
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B4 () y=1"—12t+3 = wo(t)=7y =3t"—12 = alt) =2'(t) =6t
(b) v(t) = 3(t* — 4) > 0 whent > 2, so it moves upward when ¢ > 2 and downward when 0 < ¢ < 2.
(c) Distance upward = y(3) — y(2) = —6 — (—13) =T,
Distance downward = y(0) — y(2) = 3 — (—13) = 16 Total distance = 7+ 16 = 23.
(D 20 (e) The particle is speeding up when v and o have the same sign, that is,
when ¢ > 2. The particle is slowing down when v and a have opposite

signs; that is, when 0 < £ < 2.

Page 2




